3-6 1 Sketch the area represented by g(x). Then ﬁndg
ways: (a) by using Part 1 of the Fundamental Theorem i
evaluating the integral using Part 2 and then differentia -.

5. 99 = [ ar 6. g(v) = ["(14
7=18 mn Use Part | of the Fundamental Theorem of Cs
find the derivative of the function. '

7. g0 = [ VT + 2t 8 9(x) = [ nedt

1 =

9. g(}!} - "2 t%sin ¢ dr 10. g{u = |3 3 + -

1. F(x) = " cos(i?) dt
[Him: J cos(t?) dr = — L‘ cos(rg)dI:I

12. F(x) = [mtan 6do

Jx

13. h(x) = ';l arctan f dt 14, hix) = |
vx COs ¢ (*ens x .
15. 5= [ “’: dt 16, y = [ (14§
u’ o .
17. y—'H T ~ du 18. _\'=)Ismfdr

19-42 i Use Part 2 of the Fundamental Theorem of Cale
evaluate the integral, or explain why it does not exist,

9. [* ax 20. [° 6dr
2. (" (4x + 3)dx 2. [*(1+3y—y8f
B. [ xax u. [ Yrax
25. [f%d; 26. |
g e i
27. || Sdx 28. | cos 6.0
-5 X W
r2 4 e I
29. | x(2 + x°) dx 3. | ke

31. I:’m sec’t dt 32. J:Jl (3 + xy)dt



® csc 0 cot 0.d6

36. JD‘ 10 dx

6 dt %‘Fh_—m
E 7 Jo g + 1
i 3 2
ey 40. sz i +‘u B
; i

? b0 ifit 0o <l
flx)dx where f(x) = {x ! %

NI Sl

(x)dx  where f(x) {x baEs sl

siny if 0 <x= 4
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